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1- Circle the correct answer.

L. The horizontal lines of the periodic table called:

Lines s (D) Periodic Law ,y_f% = (C)

(9x1=9) -Jf o1/ Z:?Ai. e -1

-w&MQ:/@(}’!JJ‘;_f,‘&ﬁ 1

Groups 7./ (B) Periods ;% (A)

2. Who discovered atomic number? ?Lg;tg!d/ur/_fw 2
H.Moseley ;& (D) Bohr ,4 (O Rutherford 3,3,,, (B) Dalton J’;; (A)

3. Modern periodic table has ___ periods: s SAFESsae D
09 (D) 07 (O 05 (B) 03 (A

4. How many groups are there in long form of periodic e ;M&fn/u:‘ﬁ_f}g/:’pb’v@ 4

table:

20 (D) 10 (O) 18 (B) 5 (A

5. lonization Energy increase in period because: f{9y2¢%&jlﬁirgf S

Number of shells increases ,;L;U:ﬂpﬁd/)? (A)
Number of Shell decreases JJ:L«JJ}? (B)
Number of Electrons decreases ufu:;lﬁd/y’;}gt ©

ce of attraction between valence shell electrons and nucleus increases ju;uf;,}d/uwuy/}éj,}gugyuﬁﬁﬂ,mu:‘ﬂ{zf (D)

6. lonization of energy of Sodium is:
496 kJmol ' (D)
7. The electronegativity of nitrogen is:
5 (D)

8. Which one of the following Halogen has highest
electronegativity?
Fluorine Q,,B (D)

electron affinity is:

419 kJmol™" (C)

Chlorin Q,,K (@)
9. The size of iodine atom is bigger than of chlorine. So, its

e GAFAA TS s O
337kJmol™! (A)
A T

3 (B) 2 (A)
‘~’+vk/'f—~/&}:ﬁ~¥/"guﬁfﬁ&f =ttt B

430 kJmol ' (B)

4

Bromine »,, (B) lodine a7 (A)
:9&?1@,/‘?6@5{7&_?12cf’iuéq/fy’%ﬁius{f 9

Negative ,{Q (D) Equal i, (C) Less [ (B) Greater ,y; (A)
2- Answer the following questions. (9%2=18) Heliz T PN S )
i How many periods are considered normal periods? ?%W@’J:%J/L'ﬂwz’f .

ii. Who was new land? Also write law of octave?

iii.  From which element Lanthanide series get start?

iv. How periodicity of an Atom depends upon the number
of proteon?

V. Why shielding effect increases down the group?

Vi.  Define effective nuclear charge.

Vvii.  What is trend of Electron affinity in group and period?

viii.  Why size of atom decrease in a period?

ix.  How does shielding effect decrease the forces of
electrostatics?

Attempt following questions in detail.

3(a) Give any three/ four salient features of long form
periodic table.
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(b) Define Group and explain them in periodic table. _éy&;Jd!JﬁﬂkﬁuléJﬂJv}j ®)

4(a) Describe the trends of electronegativity in a period and <éyu,Ju@/L&g~é}}giuﬁ.ﬂ/m:% (a4
in a group. ) ) .

(b) Define Shielding Effect. Explain its trend in Groups and SIS e L m A gy S E i (b)
Periods.
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